BEFORE STARTING PLEASE CHECK

Your step is not bent or damaged in any way
You have all the fittings required (see table)
You have ample room to erect your step (check dimensions www.klime-ezee.com/kk)
You have a spanner for an M8 bolt
You have scissors

If you have a KK08 or above, you will require a helper

BRACINGS & FIXTURES INFORMATION

LIME-EZEE

ACCESS & HANDLING SOLUTIONS

YOUR GUIDE TO ASSEMBLING YOUR KNOCK-DOWN ?FEE -

Scon for video

SIZE BRACINGS FITTINGS

KKO5 - KK06 No Bracings No nuts or bolts required

KKO7 - KKO9 1 Pair of Bracings 4 x M8 nuts & M8 bolts (provided)

KK10 - KK12 2 Pairs of Bracings 6 x M8 nuts & M8 bolts (provided)

KK13 - KK15 4 Pairs of Bracings 10 x M8 nuts & M8 bolts (Provided)
STEP 1

e Move your step into a clear, open area free of obstructions.
e Carefully remove the white tie wraps from both sides of the step (see point A in diagram 1).

STEP 2

e With the step still lying flat, unfold it to allow the base side members (the lower side arms
connected to the rear axle) to extend downward (see point B in diagram 1).
Securely lock the base side members into place on the step's rear axle.

For KK08 or below models: Once the base side members are securely attached to the rear
axle, you can stand the step upright.

e Forlarger units: Keep the step lying flat until the end of the assembly process.

Page 1 of 2


https://www.klime-ezee.com/kk

STEP 3

e Cut the remaining black cable ties to release the side cross and
diagonal bracing (see diagram 2). These can now be bolted
together. Do not climb the steps to perform this task!

e For larger units, keep the step lying on its back until all bolts are
securely fastened.

e Once dll bolts are tightened, your step is ready for use.

ADDITIONAL INFO

It is important that you inspect the step for any damage or signs of misuse before every use and
complete a bi-annual maintenance inspection. You should regularly ensure that all bolts are
securely tightened and that wheels and castors rotate freely.

You can download a free maintenance inspection sheet from our website www.klime-ezee.com.

Have you registered for your extended warranty? Visit www.klime-ezee.com/warranty for more
information.

TEL : +44 (0) 1773 834 910 WOOD STREET NORTH, OFF SALCOMBE ROAD

E-MAIL : SALES@KLIME-EZEE.COM MEADOW LANE INDUSTRIAL ESTATE
COMPANY REGISTRATION NO. : 02857112 ALFRETON, DERBYSHIRE

VAT NO. : GB538405302 Poge 20f2 DES5 7JR


https://www.klime-ezee.com/videosanddownloads
http://www.klime-ezee.com/warranty

